Vijaya Bank

Bank Clerical Exam
July 2007 Question Papers (Fully Solved)

REASONING ABILITY

1. In a class of forty students, Samir’s
rank from the top is twelfth. Alok is
eight ranks below Samir. What is Alok’s
rank from the bottom ?

(1) 20th (2) 21st (3) 22nd

(4) 19th (5) None of these

2. Four of the following five are alike
in a certain way and so form a group.
Which is the one that does not belong
to that group ?

(1) Jowar (2) Paddy
(3) Millet (4) Wheat
(5) Sesame

3. How many such pairs of letters are
there in the word GOLDEN each of
which has as many letters between
them in the word as in the English

alphabet ?
(1) None (2) One
(3) Two (4) Three

(5) More than three

4. In a certain code DAYLONG is
written as ZBEKHOP. How is
CORDIAL written in that code ?

(1) SPDCMBJ (2) SPDEMBJ

(3) DPSCMBJ (4) SPDCJBM

(5) None of these

5. If it is possible to make only one
meaningful English word with the third,
the seventh, the eighth and the tenth
letters of the word PREDICAMENT,
which of the following will be the third
letter of that word ? If no such word
can be made, give ‘X’ as the answer and
if more than one such word can be
made, give ‘Y’ as the answer.

(1) M (2N

(4) X 6) Y

6. If each alternate letter beginning
with the first in the word WORKING
is replaced by the next letter in the
English alphabet and each of the
remaining letters is replaced by the
previous letter in the English alphabet,
which of the following will be the fourth
from the right end after the replacement?

(1) N (2) Q (3)J

4 M (5) None of these

7. Four of the following five are alike
in a certain way and so form a group.
Which is the one that does not belong
to that group ?

(1) March

(4) June

(3) E

(2) January (3) July

(5) May

The purpose of this question paper is to help our aspiring readers to develop
an insight into the basic pattern of clerical exams for

H State Bank of India H United Bank of India
H Union Bank of India H Malwa Gramin Bank
H Pallavan Grama Bank H Deccan Gramin Bank
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